Uprav nasledujúce výrazy na súčin pomocou vyňatia pred zátvorku, alebo podľa vzorcov:

a2+2ab+b2 = (a+b)(a+b) = (a+b)2
a2-2ab+b2 = (a-b)(a-b) = (a-b)2
a2-b2 = (a-b)(a+b)

-5a-25ab =                                                     x2-36 =
27 a3-18a =                                                    x2-y2 =
-11xy - 44 zy =                                              16a –a3 =
4x2 + 40ax =                                                   a2+4b2+4ab =
-6a -12ab =                                                     9a2 -12ab +4b2 =
9+18a =                                                          z3-6z2+9z =
12x + 4y =                                                      x2-9y2=
a3 -9a =                                                           2x2 +6xy =

10x +5y2 =

144a2-12ab =

xy2+3y2 = 

a3+ab3 =

k4+3k7=

b5-b2 = 

6a2b-3a2b2 = 

3u+3+uv+v =

xy+3y-x-3 =

3(x-1)+4x(x-1) =

6a(b-1)-4b(b-1) =

cy-dy-c+d =

mk+7k – pm -7p = 

2a-6+3b-ba =

xy2+x2y+xy = 

abc + 2abc +3abc =

abc + a2b2c2 + a3b3c3 =

x2+8x+16 =

x2+2x+1 =

x2-2x+1 =

1+4a+4a2 =

y2-4y+4 =

4x2+12x+9 =

100-z2 =

4x2-20x+25 =

x2-9 =
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